2 UTPIn MWD UXY Ndon Tin'Y \sw /'7 ? (718) 376'9663 .
Qs (973) 860-1661 fax
This bechina has been sponsored by _— = J tests@dafaweek.orq
‘A ?
W N7 T WA
Name Email or Phone # (needed on 1%t page only) Page |1 0f 7|
Place an “X” if Closed N=ans (if no indication, we’ll assume Open 8723) 131 of the L tlmeS 1St 7m2?

Please email or fax your completed m2°m2 using the contact info above by Monday, October 30, 2017 and we’ll send it back marked, 1"»2.
All scores 90 or above will receive a financial incentive in the form of a gift certificate. Any comments, suggestions or corrections would be
appreciated. Copies of these tests and answer keys can be obtained by contacting us or by download from our website listed above. Initially,
the “questions only” test will be posted. A few weeks later, we will post the “question/answer” sheet. Please write clearly and use only black ink.
Unless otherwise indicated, all questions are based on >""w=\x=2s.

This week’s 71°02 starts on :7° 97, 10 lines from the bottom - X137 27 92 7239 X

and ends at the bottom of v 7

1. A) Fillin the following chart regarding fruits and vegetables in general.

TN WRA IS In Wh or vaw

Year determined by nv°p% or 70N

rak
T2°R
B) Fill in the following chart regarding year determination for an J17nX.
nawyn R
bRV 20
27PN Y2

2. A) According to the initial version of X177 27 72 1727 according to HX°913 127, is the 7w WX

for 20X in Wn or vaw?

B) Our X3 quotes a Xn*>12 that says, X2W 7V 0aw2a Y"1 27V MINR UPY IR WYX 12 VAR 27
T R PAWYAY PATIN PRY D7 T DY 1 PIWY PATIN PR WAWT R12NWH URoRY T wawn X1an
LIV WY NWRI WYA DOWOOW ,N°Ya7 NI WY aNca LWINT OV Wi 1A XYY 1w Y wInna
1Y WY NWRI WY YA, Does A1yhR 12 1wnaw 227 follow the opinion of X913 127 or "2

TYHR?

C) What question does our &7 n3 ask based on this Xn»12?
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2. D) How does the & n3 answer this question?

DY A PIWYN PATIN TR WA XANWH VPO M WA RN X9W TV 71w W 279 270 up L1120 10
,NOWSOWS OIS TN NS AR LWINN DY 1N 11 R 1T 5V WIAN 1 RS PWYm RN PR 0 ot
(20 A7) 719 WYH PWRI WA NOWOHY I WY YR WY I

3. On the second year of the v nw cycle, one must separate *1w Wy NWRI Wwyn. On the third
year, "1y Wwym WX wyn. On the fourth year, "1w wym NwR 2wyn. Both, our X002
(regarding 03170X #2B), and the X012 on 2° 77 (regarding Np7°) discuss produce that spans
two years. Our 8n>12 discusses N°¥°27% NoId1 W ow. The X112 quoted on 2° 77 discusses
nwowh nodl maw. Why the difference?

4. According to °X1° 27, the mIwn WX for 2°27NKX is in VAW,

A) The Jewish calendar is normally based on the lunar calendar. There are some exceptions
where laws are based on the solar calendar. When >X2° 327 said that the 71w WA for 2°2170KX
is in V2w, did he mean the solar month of vaw or the lunar month?

B) On an 72y year, a thirteenth month is added in between vaw and 77X which we refer to as
'R 77X, Is the 71w WX for trees in the month we refer to as vaw or the month we refer to as
'R TR?

5. A) Fill in the following chart according to 727 regarding an 210X which is a 70121 DWW N2
noyeaw (its wan occurred in the 6 year and its 7v°p% was in the 71") and a 770121w n°y°aw na
WS (its 7vIn occurred in the 7t year and its 7w R in the 8™). (Yes or No)

Y°2 2N Wyna 21

Ny awh 0101w NWW N2

nOIPRYH A0I0IW NOYUAW N2
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5. B) The reason n°y>aw Mo are Mwd from NMwyn is because ...
a) they are 7pan.
b) they have a my°2 2R

C) »ax originally understood from the case of n>1°»w? 0101w N°y 2w, that 727 is of the opinion
that an 217nX’s status, with regards to Dy av is ...

a) determined by van.
b) determined by nuv°pP>.
c) a Poo whether it is determined by 7van or 7vPS.

D) The 211 of 7w nw M My for o NR s a ...
a) RN™MIRTA 277
b) 112777 217

E) Based on #C and #D, how did »2X understand 727’s reason for 7¥°2 in the case of Ny aw
n1RYY 170101W7?

F) However, from the case of n>y°2w" 0101w Nww, it became clear to »ax that 1127 is of the
opinion that an 217NX’s status, with regards to N°y°2w must be ...

a) determined by fvan.
b) determined by ftp5.
c) a po0 whether it is determined by 01 or fvP.

G) What question did this leave >»2X on 17277?
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5. H) How did 7127 answer this question?

6. A) Fill in the following chart according to X113n77 29 regarding an 270X, (Yes or No)

Y2 27

WY1 21

Ny Yt 0101w DWW N2

nOIPRYH N0 Ny AW N2

B) X117 27 is of the opinion that an 217NX’s status, with regards to N°Y°2W is ...

a) determined by van.
b) determined by nuv°pP>.

c) a po0 whether it is determined by v1r or nvP.

7. A) Fill in the following chart according to 1vnw 27 D12 IR 7717 12 1WA 29, (Yes or No)

Y2 277

wyn1 2N

Ny WY 70101 DWW N2 - XYW

nO1PHYH 70IDIW NOYOIW N2 - XD

B) 1vnw 27 is a Xin. The X713 is bothered that the w1 contradicts ...

a) 737 (#5)
b) 11177 21 (#6)
¢) both 727 and X111 20
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7. C) Itis also bothered that the X5°0 contradicts ...

a) 127
b) X111m77 2

c) both 7127 and X117 29

D) How does the X713 answer this?

8. A) Fill in the following chart as to what determines the year for o°»11nX. (70 or v°pPY)

Doy aw

wyn

DOIPT W DWW TV DINI0IAR

RXWIN2 11721 11°M27

B) Which of these opinions does 7127 (#5) follow?

C) Which of these opinions does &111n77 27 (#6) follow?

D) What is the underlying disagreement between X111 27 and 7277?

9. How did 73m 21 and w°p% w» weigh in on N°Y°aw [0101w MWW N2 2°170K regarding ...

A) wyn? (2°1 or 1Wd)

B) Mwa? (2°°1 or Mwd)
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M52 °NW WY 12°82 ,09MR 03727 712,700 020 K L. WYNR a2 "0 OTIP 1TMD 0INY 12°K L1320 1N
.. 0AWAY"D QTP TTNIO WIAY D DY AR ,P2M 20PN 277 1A LNAR 719°72 T 129K DaR mwa

10. A) What does the Xn»92 mean by M12°72 *nw www 17°8?

B) Fill in the following chart regarding what determines the year for 2wy according to 29
7°n2’s explanation. (70N or 7VPY)

M2 NY VWY 17K NNR 772°72 3w 190K

C) 711" °21 says 5 (NAR 779°72 7w 12°K) 121702 Qv .

11.A) Our X713 quotes a Wy ond that says (X:7 NYaw) v 177w NO¥aw mw M. How long
after their 7vIn does it take for mw n113, white figs, to develop?

B) We see from this mawn that the determining factor for fruit, even if they come from an 12°8
NNAR 72°92 Awwa, is ...

a) Py
b) fvIn

C) w°p v challenged jam °27°s statement (#10C) by pointing out that this miawn seems to
contradict his ruling. How did 7117° 27 reply?

D) 377977 XA 27 questioned WP w’s challenge on 1371 °27. He asked why it would be a
problem that this 71w contradicts 3311 °27°s ruling. 371 27 ruled like 77°111 °27 while the 7129
argued with 7°n11 °27. How does 171277 °0% °21 defend w°p% w°2’s challenge?
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11. E) 37977 RaX "27 again questioned w°p? w7’s challenge on 1371 °27. Perhaps when 317 °21 said
Qv 1373, he didn’t mean that he agreed with their practice. He was only saying that this is the
way the oy acted. How does 371077 °01° °21 defend w°p% w°7’s challenge?

F) What was 171277 82X °27’s final question of w°p% w°7’s challenge on 31 °27?

G) Based on this question, 17977 Xax °27 stated 17 721WN? WopL W 72°wh aX 170N, | wonder if
wph w1 actually challenged jamy °27 from this awn. The X723 asks, how could 377077 XaxR 29
wonder this, we know that v°p% w1 did challenge jam1° °27. How did the X773 modify Xax °27’s
statement?

Please feel free to add any questions/answers, mavi or headlines of the nv o from this week’s 77

Utilize our Shoel U’meishiv online at http://www.dafaweek.org/discussion-forum

Let’s plan to be m39p the nog» focusing on a simple 737mm of just the X w1 Xopw inside:
Were you able to make a few minutes every day for an immediate s9tr of the portion just learned?

Were you able to make time on naw or Sunday to do a #=n of the n7?
Were you able to make time on naw or Sunday to do a 7= of the last 3 a'97?
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